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* USE 2.1m SHOULDER WIDTH (1.2m FDPS) FROM
-L- STA. 39+70 TO 39+90 (LT.)
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** USE 3:1 FROM -L- STA. 36+00 TO 37+20 (LT.)

*** VAR. 6:1 TO 4:1 FROM
-L- STA. 36+00 TO 37+20 gLT.;
-L- STA. 39+70 TO 39+90 (LT.

2.4m

M
>
Q
~y
LO
(@)
N
4« MATCH LINE A & B

0.15m
E X

o 4 290mm
X e4) (R

GRADE TO
THIS LINE

GRADE TO THIS LINE

e —

0.15m

TYPICAL SECTION NO. 2

NOTE:

USE TYPICAL SECTION NO. 2

-L- STA. 27+80 TO 50+46.252

SEE PLANS FOR LOCATION OF AUXILLARY LANES AND MONOLITHIC CONCRETE ISLANDS.

LIMITS OF EX. PAVEMENT WILL VARY.

TYPICAL SECTION NO. 2A

USE TYPICAL SECTION NO. 2A
IN CONJUNCTION WITH T.S.

NO. 2

WEDGE AS NECESSARY TO CONSTRUCT TYPICAL SECTION.

VAR. 3:1 TO 4:1 w\

-L- STA. 43+58.765 TO 50+46.252
-L- STA. 45+31 TO 50+46.252 (R

VAR. 9m TO 11.7m

fm

VAR. 9m TO 11.7m

VAR - j/ @L ¥
15mm %%@f.{,f/

GRADE TO THIS LINE

GRADE TO THIS LINE

= TYPICAL SECTION NO. 3 ..

NOTE:

USE TYPICAL SECTION NO. 3

-Y1- STA. 10+46.000 TO 14+67.260

SEE PLANS FOR LOCATION OF AUXILLARY LANES AND MONOLITHIC CONCRETE ISLANDS.
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B4 R e v PAVEMENT
THIS LINE SCHEDULE
— C1 40mm S9.5B
0.15m ‘
C2 70mm S9.5B
TYPICAL SECTION NO. 2B C3 | 7omm s95C
USE TYPICAL SECTION NO. 2B
IN CONJUNCTION WITH T.S. NO. 2 C4 | VAR S59.58
-L- STA. 34+45 TO 45+31 (RT) CS | VAR $9.5C
D1 110mm 119.0C
- 2.4m -
D2 VAR. 119.0C
El 75mm B25.0B
E2 110mm B25.0B
E3 100mm B25.0C
E4 110mm B25.0C
E5 VAR. B25.0B
E6 VAR. B25.0C
R1 750mm C&G
| —— .
R2 450mm C&G
R3 CONC. ISLAND
T EARTH
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